Chapter 9 – Practice quiz – ANSWERS

WS 9.0-2 Chapter 9 Quiz

Part A: Modified True/False

1. False; According to the Law of Conservation of Mass, the

total number of atoms present in the reactants must

equal the total number of atoms present in the products.

2. True

3. False; A synthesis reaction is the opposite of a

decomposition reaction.

Part B: Matching

4. (f ); 5. (e); 6. (d); 7. (b); 8. (c); 9. (a)

Part C: Multiple Choice

10. D; 11. C; 12. B; 13. C; 14. A; 15. B;

16. D; 17. D

Part D: Short Answer

18. P4 + 6 Cl2 
4 PCl3; This is a synthesis reaction.
